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Questions

Which of the following noble gas is used for arc welding and cutting

Refrigeration capacity of liquid neon is greater than liquid helium by

Bleaching powder may be produced by passing chlorine over.

Which is the strongest acid

Bleaching powder contains available chlorine approximately

What is the oxidation state of Xenon in XeOF2

lodine deficiency in diet is known to cause.

Which acid can not be stored in glass bottles.

Which halogen occurs naturally in a positive oxidation state.

Which one is chlorous acid

Which element form maximum compounds with Xenon

Which one of the following noble gases is least polarizable

Stability of halogen molecules decreases from

In fluorescent tube, the gas filled is.

Which halogen will react spontaneously with Au to produce Au3+

Answers Choice

A

UOWP UOWP UOw

cowmp

OOW» DOWP» DOUP DOmE 0DOmP

OOm» DOm > DOUP DOWr DOWF DOW>

. Helium
. Argon

. Xenon
. Radon

. 80 times
. 50 times
. 40 times
10 times

Calcium carbonate
Hydrated calcium sulphate
Anhydrous calcium sulphate
. Calcium hydroxide

HCIO

. HCIO<sub>2</sub>
HCIO<sub>3</sub>
HCIO<sub>4</sub>

100%

70-80%
35-40%
10-20%

0

+2
+4
+6

Beri Beri
Goiter

Rickets

. Night blindness

HCI

HF
H2S04
HNO3

Fluorine
Chlorine
Bromine
lodine

HCIO

HCIO<sub>2</sub>
. HCIO<sub>3</sub>
. HClO<sub>4</sub>

F
Cl
Br
|

He
Ne
Ar
Kr

F2to

Cl2to 12
12 to F2
12 to CI2

Br2

12
Ci2
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Which one of the following acids acts as oxidizing agent but never a reducing agent.

Which raw material is used for preparation of bleaching powder.

Which one of the following uses is not correctly related with the halogen.

Which one is perchloric acid

Which halogen will react spontaneously with Au(s)to produce Aud*

Chlorine heptoxide reacts with water to form

The most ionic is

The anhydride of HCIO4 is

The halogens ae best described by which of the following statements.

Which of the following hydrogen halide is the weakest acid in solution

An element that has a high ionization energy and tends to be chemically inactive would most
likely to be

Bromine can be liberated from KBr solution by the action of.

The anhydride of HCIO4is

Hydrogen bond is the strongest between the molecules of

Bleaching powder may be produced by passing chlorine over

Hydrogen bond is the strongest between the molecules of.

Which halogen occurs naturally in a positive oxidation state

ow»

A
B.

D.

gow>» UowP oW UOWP UOwWP

om» DOw

HCIO
HCIO2
HCIO3

. Cl2 and H20

. CI2 and HOCI
. HCl and Lime

. fluoring -------- Teflon
. Chlorine --------- Bleaching powder

loding ----------- lodex

HCIO
HCIO

. HCIO<sub>3</sub>

. Br<sub>2</sub>

. Iksub>2</sub>
. Cl<sub>2</sub>

Hypochlorous acid

. Chloric acid

. Chlorine and oxygen

HCI
HBr
HI

CIOo3

Clo2
CI205

Their outer shell is complete
Most of them are colourless

They all are gases at room

temperature

w >

o

OWP DOTP TO®mP UOW

oo

ow» COw®

HBr
HI
HCI

. An alkali metal

A transition element

. A halogen

. 12 solution

NaCl
Kl

. ClO<sub>3</sub>
. ClO<sub>2</sub>
. Cl<sub>2</sub>0O<sub>5</sub>

HCI

. HBr

HI

. calcium carbonate
. hydrated calcium sulphate

magnesium hydroxide

HCI
HBr
HI

. Fluorine
. Chlorine
. Bromine

HRr
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Which one of the following has highest melting and boiling points.

The chemical formula of Sodium Bromite is.

Which of the following hydrogen halide is the weakest acid in solution.

Which one of the following is not use of chlorine.

Which one of the following gases exist in monoatomic form.

Which halogen will react spontaneously with Au(s) to produce Audt

An element that has high ionization energy and tends to be chemically inactive would most
likely to be

Which is the second most abundant element in the universe

Which gas has highest boiling points.

Which one of halogens is a liquid

The gas used in bactericidal lamps is

The anhydride of HCIO4is

XeF6 n hydrolysis produces.

Which noble gas is used in radiotherapy

is use as a cooling medium for nuclear reactors

Which substance is used in photography

Colour of which halogen is not correctly related.

Chlorine heptoxide (CloO7) reacts with water to form

w >

ow»

Dow> Dol

OW» UTOWP UOwWP UOwWP OwWP UOw

ow>

owr» Cowmr

ow»

Dow» DOwR

COm» UOW

HC
HI
NaBrO

NaBrO3
NaBrO4

HBr
Hi
HCI

. Formation PVC
. Formation of mustard gas
. Disinfectant and bleaching agent

Ozone

. Nitrogen
. Phosphine

. Br<sub>2</sub>

I<sub>2</sub>

. Cl<sub>2</sub>

. an alkali metal
. a transition element

a halogen

H
He
CcO

. F<sub>2</sub>
. Cl<sub>2</sub>

. I<ksub>2</sub>

Be
Ar
Kr

CIO

. ClO<sub>2</sub>
. ClO<sub>3</sub>

. XeOF2
. XeOF3

. XeF2

Neon

. Argon
. Krypta

Ne

Ar
Kr

AgCl

Agl
Ag3P0O4

ClI2---- greenish yellow gas
Br2----- Reddish brown liquid
[2--=----- grayish Black solid

. Hypochlorous acid
. Chloric acid

. Chlorine and oxygen



A. Cl Is oxidized and O Is reduced
Which statement is correct about the given reaction. B. Clis reduced and O is oxidized
51 2NaOH + CI2 ---------—---—-—--NaCl + NaCIO + H20

D. Neither Cl nor oxygen is reduced or
oxidized



